Math 30 
Test 2, S2007
Sections 2.2 – 2.7
Name ______________________________

Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.  The point value of each problem is given.

1.
The derivative of the function f at x is defined to be 
(5 points)
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2.
Let 
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(5 pts. each)

a.
Find the average rate of change of 
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b.
Find the instantaneous rate of change of 
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3.
Find each derivative.  

(4 pts.each)


a.
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4.
Find each derivative.  It is NOT necessary to simplify answers, but use parentheses correctly.  
(6 points each)


a.
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c.
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5.
A company manufactures cordless telephones and finds that its cost function is 
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 dollars, where 
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is the total cost of producing x cell phones.  
a.
The total cost of manufacturing 100 cell phones is __________________
(3 pts.)
b.
Find the marginal cost function.  
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(4 pts.)
c.
The marginal cost when 100 cell phones are produced is __________.  
(3 pts.)
d.
Find the average cost function.  
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(3 pts.)
e.
The average cost of manufacturing 100 cell phones is _________.  
(3 pts.)

a. Find the marginal average cost when 100 phones are produced.  Interpret your answer.
(8 pts.)
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6.
Find the second derivative for 
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(11 points)

7.
For the function f graphed below, find:
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(18 pts)


a.
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b.
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c.
On what interval(s) is the function f  increasing?  
_______________________


d.
On what interval(s) is derivative 
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 negative?  
_______________________


e.
Find three x value(s) where f  not differentiable.  Give the reason for each
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